300 mm

150 mm

QUICK
START
UIDE

((Read this manual carefully and save it for future reference. )

Disclaimer: The products, accessories, user interfaces, etc.
illustrated in this guide are intended for reference only.
Due to product updates, the actual product and the

illustrations in this guide may vary.

BS:
150 mm
g
YIRS
) T RNE= =Y N B
BRI, AT LAA E R UPC:
7=2% » Wyze Bird Feeder 5B8H ENRIEHE » CM VK MEWIR > 105gFHA sz > e
HenE >
BT > B WRRT » NEF BMTE » BDITE HE »




QUICK

START
GUIDE

Read this manual carefully and save it for future reference.

Disclaimer: The products, accessories, user interfaces, etc.
illustrated in this guide are intended for reference only.
Due to product updates, the actual product and the
illustrations in this guide may vary.



CONTENTS

IN THE BOX

BIRD FEEDER ASSEMBLY

CAMERA INSTALLATION (Wyze Battery Cam Pro) = -~
CAMERA INSTALLATION (Wyze Cam v3/va) weweeeeeeeeeeeeeeees
CAMERA INSTALLATION (wyze Cam Outdoor v1/v2) =

TREE MOUNTING

WALL MOUNTING

POLE MOUNTING

CORD MOUNTING

SUCTION CUP MOUNTING
ADDING FOOD -~

REMOVE THE CAMERA BRACKET

WARRANTY INFORMATION

1

13
15
16
18
20
21

22



IN THE BOX

Wyze Bird Feeder x 1
Food Tray x 1

Food Tray Stand x 1
Solar Panel Cover x 1
Camera Bracket x 1
Lens Bracket x 1

L-Shaped Bracket x 1

© © 6 6 6 6 0 ©

Suction Cup Bracket x 1

@ Pillar Connecting Piece x 1
@ Cable Tie x1

@ Suction Cup x 2

@ Safety Cord x 1

@® Mounting Cord x 1

@ Screw Accessory Pack x 1
® Screwdriver x 1

® Quick Start Guide x 1

Note: Powe Dirill and 6mm drill bit required for wall mounting.

g ==

Wyze Bird Food
Feeder Tray

¥

Camera Lens
Bracket Bracket

L
Cable

Pillar Connecting

Piece Tie
g %
Mounting M2.5 Screws

Cord (Bag-A)

ol e
M4 Thumb Expansion Screw

Screw (Bag-D) Pack (Bag-E)

=

Food Tray
Stand

L-Shaped
Bracket

&

Suction
Cup

M4 Screw
(Bag-B)

=
= =
0 O

Male-female
Fasteners (Bag-F)

-

Solar Panel
Cover

J

Suction Cup
Bracket

-

Safety
Cord

)

1/4 in Screw
(Bag-C)

A

Screwdriver



BIRD FEEDER ASSEMBLY If you have a Wyze Solar Panel, you can install it according to the diagram.

© Insert the Food Tray Stand into the Food Tray and secure the bottom with @ Estimate the length of cable needed to attach to the camera. Then coil the
two M2.5 Screws (Bag-A). excess cable around the winding board.

%

M2.5 Screws — % .

@® Install your solar panel into the Solar Panel Cover, and mount it onto the
main body of Wyze Bird Feeder as shown below.




CAMERA INSTALLATION

Wyze Bird Feeder is compatible with Wyze Battery Cam Pro, Wyze Cam v3, Wyze Cam v4,
Wyze Cam Outdoor vl and Wyze Cam Outdoor v2.

© Toinstall your Wyze camera into Wyze Bird Feeder, slide the Lens Bracket
over the camera, aligning the bracket with the center of the camera lens.

@® Place the camera on the camera bracket, aligning it with the rear screw hole
position, and tighten using an 1/4 in Screw (Bag-C).

©® With your camera installed, mount the Camera Bracket onto the main body
of your Wyze Bird Feeder. Then connect the power cable to the solar panel.

E
=
=]




CAMERA INSTALLATION
We recommend turning Night Vision off for this camera when using the lens bracket.

© Toinstall your Wyze camera into Wyze Bird Feeder, slide the Lens Bracket
over the cameraq, aligning the bracket with the center of the camera lens.

@® Install an M2.5 Screw (Bag-A) onto the Camera Bracket (be careful not to
tighten it yet), mount the camera base onto the bracket, insert it into the
large hole of the camera base, pull it down to the position of the small hole,
and tighten the screw.

Secure the screw Position the camera Tighten the screw

7

® With your camera installed, mount the Camera Bracket onto the main body
of your Wyze Bird Feeder.

E
=
=]




CAMERA INSTALLATION
We recommend turning Night Vision off for this camera when using the lens bracket.

© Toinstall your Wyze camera into Wyze Bird Feeder, slide the Lens Bracket
over the cameraq, aligning the bracket with the center of the camera lens.

@® Remove the base of the Wyze Outdoor Camera, align the front screw hole
with the positioning hole of the Camera Bracket, align the rear screw hole
with the second screw hole position of the Camera Bracket, place an M2.5
Screw (Bag-A) into the second screw hole position, and tighten the screw.

©® With your camera installed, mount the Camera Bracket onto the main body
of your Wyze Bird Feeder. Then connect the power cable to the solar panel.

:

E
=
=]




TREE MOU NTING ® Place Wyze Bird Feeder onto the L-Shaped Bracket.

You Will Need
l©l
Cable M4 Screw L-Shaped
Tie (Bag-B) Bracket

© Use the Cable Tie to attach the L-Shaped Bracket to a tree trunk or other
cylindrical object.

© Secure Wyze Bird Feeder to the L-Shaped Bracket with an M4 Screw (Bag-B)
on the bottom of the bracket.

Cable Tie

L-Shaped Bracket

M4 Screw —— ;

n 12




WALL MOUNT' NG ® Position the L-Shaped Bracket over the expansion tubes, and secure with

two screws.
You Will Need
Power Expansion Screw M4 Screw L-Shaped
Drill Pack (Bag-E) (Bag-B) Bracket
L-Shaped
@ At your mounting location, drill two 6 mm holes with your hand drill, then Bracket
insert the Expansion tubes (Bag-E).

©® Insert the L-Shaped Bracket into the bottom of Wyze Bird Feeder.

0@ Secure Wyze Bird Feeder with an M4 Screw (Bag-B) on the bottom of the
L-Shaped Bracket.

— g

Expansion
Screw Pack

P

6mm Powe Drill

Wall

M4 Screw —— ;

13 14




POLE MOUNTING

NOTE The Wyze Bird Feeder can be mounted on a pole with an outer diameter of 1inch.

You Wl” Need

Pillar Connecting M4 Screw
Piece (Bag-B)

© Attach the Pillar Connecting Piece to the bottom of Wyze Bird Feeder, and
secure it with an M4 Screw (Bag-B).

Pillar Connecting M4 Screw
Piece

15

® With the Pillar Connecting Piece attached, position Wyze Bird Feeder into
the pole.

Pole (1" OD) ﬂ

CORD MOUNTING

NOTE When cord mounting your Wyze Bird Feeder, ensure it is less than 3 feet above

the ground.
You Will Need

M4 Screw M4 Thumb Mounting
(Bag-B) Screw (Bag-D) Cord

16



@ Use an M4 Thumb Screw (Bag-D) to secure the Top Cover to Wyze Bird
Feeder, and use an M4 Screw (Bag-B) to secure the feeder tray to the food
tray and the main body.

M4 Thumb
Screw

; —— M4 Screw

@® Hang the bird feeder at your designated location using the Mounting Cord.

Cord Slot

17

SUCTION CUP MOUNTING

You Will Need

O J
Suction L-Shaped Male-female
Cup Bracket Fasteners (Bag-F)
M4 Screw Suction Cup Safety
(Bag-B) Bracket Cord

@ Combine the L-Shaped Bracket and the suction cup bracket together, and
secure both brackets using two pairs of Male-female Fasteners (Bag-F).

Male-female Fasteners

(with "Install Upward" sticker)

—— Suction Cup Bracket



® Take two Suction Cups and remove the nuts from them. Thread the screws @ Insert the bottom of Wyze Bird Feeder into the bracket and secure it with
through the L-Shaped Bracket and the Suction Cup Bracket. Then, tighten one M4 Screw (Bag-B).
the nuts to secure the bracket onto the glass. (Note: Ensure the side with
the "Install Upward" sticker is facing upward.)

—— Suction Cup

L-Shaped Bracket
(with "Install Upward" sticker)

Suction Cup Bracket

|| —— suction cup

©® Hook one end of the Safety Cord into the middle of the camera bracket, ADDI NG FOOD

and secure the other end of the Safety Cord to the wall. TIP Fill Wyze Bird Feeder with bird food before mounting.

» Open the bird feeder's top cover and pour in the food, then close.

Ensure the safety rope hook is
securely in the bird feeder's safety hole

19




REMOVE THE CAMERA BRACKET

» With the bird feeder removed from its mount, grasp the bottom of the
camera bracket with one hand and firmly push upward.

™

21

WARRANTY INFORMATION

Your Wyze product is covered by a one-year limited warranty. You can view
the limited warranty terms at https://wyze.com/return-warranty-policy or
request a copy by contacting Wyze at +1(206) 339-9646.

Apple logo and App Store are trademarks of Apple Inc., registered in the
U.S. and other countries and regions. « Google, the Google logo, Hey
Google and the Hey Google logo are registered trademarks of Google LLC.

Wyze and Wyze Bird Feeder are trademarks of Wyze Labs, Inc.

22



NEED HELP?

Contact our Support Team:
https://wyze.com/support
Join the Community:
https://wyze.com/community

Scan the QR code
to learn more




